August 4, 2025 ECONOMIC TIMES EDITORIAL — BY ENGLISH MADHYAM

Find climate solutions for them, and us

Climate change is, indeed, a great leveller. Rich or poor, no country is immune to nature's growing
unpredictability. Torrential rains and flash floods have battered the US East Coast, forcing states of
emergency in NYC and New Jersey. Authorities warned residents to stay home as streets, subways
and basements threatened to flood. It could just as easily have been an alert for any Indian city. But
in this shared vulnerability lies an opportunity for India to turn adversity into action.

In the 30 years since countries first struck a global climate deal, extreme weather has cost India $180

bn in direct economic losses. This is part of a staggering $4.2 tn worldwide. India may have repeatedly
failed to prevent urban flooding, with city streets routinely turning into rivers, but it has developed a
kind of muscle memory when it comes to managing extreme rain and heat. Drawing on its experience
- and mindful of its resource constraints - India could turn its difficult circumstances and (however
patchy) expertise to develop solutions to mitigate and adapt to climate impacts in other geographies,
including rich countries now looking increasingly frayed. Many of these solutions will need to be
implemented at home, serving as proof of concept, demonstration projects and real-time adaptation
to the new reality of climate change. Experience, necessity and a vast canvas can help turn adversity
into innovation. India's scale and geographical diversity makes it a natural incubator for climate

adaptation startups across a range of budgets.

With extreme weather conditions rising, the need for solutions will only increase. Conservative
estimates project that by 2034, global climate adaptation market could reach $60 bn. India should

seize the moment. |[Practice Exercise]\

e Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’
denotes ‘subject’ and ‘blue’ denotes ‘verb’.
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10.

11.

Vocabulary

Indeed (adverb) — truly, certainly, surely,
undeniably, verily arEdd &

Great leveller (noun) — something, typically
death, that affects people of every class and
rank in the same way, making everyone
seem equal.

Immune (to) (adjective) — resistant,
unaffected, insusceptible, protected,

invulnerable faf&Ia

Unpredictability (noun) — uncertainty,
variability, inconsistency, instability,

unreliabilityﬂﬁﬁﬂﬂm

Torrential (adjective) — heavy, intense,

pouring, relentless, drenching HHTYR

Flash flood (noun) — a sudden flood of water

caused by heavy rain 37dloleh d1¢

Batter (verb) — pummel, pound, strike, beat,

thrash &ITIEd LT

Threaten (verb) — endanger, jeopardize,
menace, risk, imperil TR ¢ / @A &
STelall

Vulnerability (noun) — susceptibility,

weakness, exposure, risk, openness WHT

Lie (verb) — rest, exist, reside, remain, dwell

ere giam

Adversity (noun) — hardship, difficulty,
misfortune, trouble, challenge m'lé'

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Strike a deal (phrase) — make an agreement,

settle, negotiate, finalize, broker m@ﬁ?n
T

Staggering (adjective) — astonishing,
overwhelming, shocking, immense, jaw-

dropping TepT ¥ aTell

Worldwide (adjective) — global, universal,
international, planetary, all-encompassing

TIegegrdy

Muscle memory (noun) — the ability to
reproduce a particular movement without
conscious thought, acquired as a result of
frequent repetition of that movement.

Draw (on) (verb) — use, utilize, rely on, refer

to, tap into 39N FAT

Mindful (of) (adjective) — aware, conscious,

attentive, alert, careful HaldT

Constraint (noun) — limitation, restriction,

barrier, control, restraint EIGEL]

Patchy (adjective) — uneven, inconsistent,

scattered, irregular, sporadic 3GIT

Expertise (noun) — skill, proficiency,

competence, know-how, mastery ICELEG

Mitigate (verb) — reduce, alleviate, ease,
soften, lessen shdH T
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22.

23.

24,

25.

26.

27.

28.

29.

Adapt (to) (verb) — adjust, modify,

accommodate, conform, acclimatize 3-1@3‘3?

e

Geography (noun) — terrain, landscape,

region, topography, area 84‘\?1’!?{

Frayed (adjective) — worn-out, tattered,
fragile, strained, weak w;pm%magaﬂ

At home (phrase) — locally, within the
country, domestically, in one’s own land,

nearby U SAH

Demonstration (noun) — display,
presentation, illustration, showing,

enactment 93%1?-[

Adaptation (noun) — adjustment,
modification, transformation,

accommodation, conversion W

Necessity (noun) — requirement, essential,

compulsion, demand, need 3T dl

Vast (adjective) —immense, huge, extensive,

expansive, massive ICHIE

30.

31.

32.

33.

34.

35.

36.

ECONOMIC TIMES EDITORIAL — BY ENGLISH MADHYAM

Canvas (noun) — platform, scope, backdrop,
setting, domain AT/ T

Diversity (noun) — variety, range, multiplicity,

assortment, heterogeneity CIEAG

Incubator (noun) — growth hub, accelerator,

startup center, cradle, catalyst qIYeh che,

Conservative (adjective) — (used when you
are guessing how much something costs)

lower than the real figure or amount (eITTcd

T Hed T AT TEATAD Hod J FHHA

Estimate (noun) — approximation, projection,

calculation, evaluation, guess 3-]@33113'

Project (verb) — forecast, predict, estimate,

anticipate, calculate l-I(\dclc:lad-lla-l ISElIGI

Seize the moment (phrase) — take
advantage, act quickly, grasp the
opportunity, make the most, capitalize on

TIHE hT oI 31T
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10.

11.

12.

13.

14.

15.

Summary of the Editorial
Climate change affects all — Regardless of wealth, no country is safe from nature's
increasing unpredictability.
Recent US floods highlight global vulnerability — Torrential rains and flooding in NYC and
New Jersey mirror situations in Indian cities.
Shared climate risk is a shared opportunity — India's own exposure and experience offer
a chance to lead in climate resilience.
India has suffered heavy economic losses — Extreme weather has cost India $180 billion
over 30 years.
Global losses are immense — Worldwide, extreme weather has caused $4.2 trillion in
economic damage.
Urban flooding remains a weak spot — Indian cities often fail to prevent flooding but
have learned how to manage its aftermath.
India has developed coping experience — Despite limited resources, India has gained
operational know-how in handling heatwaves and heavy rain.
Opportunity to export solutions — India’s climate adaptation practices could be tailored
for and applied in other countries.
Demonstration projects are key — India should implement and showcase solutions
domestically before promoting them globally.
Turning adversity into innovation — Necessity, scale, and diverse terrain position India to
become a hub for climate innovation.
Startups can thrive in India’s climate context — The country's geographic and economic
diversity makes it ideal for climate tech experimentation.
Rising global demand for climate solutions — As weather extremes increase, so does the
need for innovative responses.
Huge market potential — The global market for climate adaptation is projected to reach
$60 billion by 2034.
India must act with urgency — Timely action is essential for India to claim leadership in
this growing field.
Climate leadership is within reach — By leveraging its experience and scaling innovations,
India can lead both at home and abroad.
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Practice Exercise: SSC Pattern Based

1. What can be inferred about India’s position in the global climate adaptation landscape from the
passage?
A. India has already solved most of its climate-related problems and now helps other countries.
B. Despite its struggles, India has potential to lead in climate adaptation innovation.
C. India should avoid investing in climate adaptation and focus only on economic growth.
D. Rich countries are better prepared to handle climate disasters than India.
2. According to the passage, why does India's experience with extreme weather make it a strong
candidate to lead climate adaptation efforts globally?
A. Because India has the most advanced technology for climate prediction.
B. Because India has successfully eliminated urban flooding.
C. Because it has faced repeated climate disasters and developed responses despite limited
resources.
D. Because it has copied solutions from other countries efficiently.
3. What can be inferred about India’s potential role in the global climate adaptation market?
A. India can become a leader in creating scalable climate adaptation innovations
B. India lacks the infrastructure to develop effective climate solutions
C. Indiais unlikely to contribute meaningfully due to its limited experience
D. India’s economic losses prevent it from engaging in climate innovation
4. Which of the following best captures a key opportunity highlighted in the passage?
A. Climate change has made it impossible to manage weather events
B. Global climate funds are available only to wealthy countries
C. Shared climate challenges offer India a chance to innovate for the world
D. India must stop all urban development to avoid floods
5.  Which of the following is the closest synonym of “mitigate” as used in the sentence:
"...solutions to mitigate and adapt to climate impacts..."

A. Delay
B. Alleviate
C. Resist
D. Endure
6. Select the most appropriate ANTONYM of the given word.
Delay
A. Wait
B. Hasten
C. Intervene
D. Lag
7. Select the most appropriate adverb to fill in the blank.
The explorers trekked through the dense jungle
A. rarely
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10.

11.

12.

13.

B. before

C. bravely

D. ever

Select the INCORRECTLY spelt word

A. Idol

B. Motto

C. Hymn

D. Machinary

Select the most appropriate option to fill in the blank.

The inclusion of Durga Puja in the UNESCO's list of Intangible Cultural Heritage was only
possible due to the arduous of all stakeholders.

A. passivity

B. affects

C. ignorance

D. efforts

Select the most appropriate meaning of the given idiom.

Beat around the bush

A. To speak convincingly

B. To avoid getting to the point of an issue

C. To speak abusively

D. To speak rashly

Select the option that will improve the underlined part of the given sentence.

The moment James saw Regena, he fell head on to his heels in love with her.

A. heads in the heels

B. head and heels

C. heels of the head

D. head over heels

Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution required'.

Rishi Sunak, the Prime Minister of the United Kingdom and Leader of the Conservative Party,
was born into Southampton to parents of Indian descent who immigrated to Britain from East
Africa in the 1960s.

A. no substitution required

B. was born with

C. was bornon

D. was bornin

The following sentence has been split into four segments. Identify the segment that contains
a grammatical error.

Most probably, / he come / to office / next Tuesday

A. he come
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14.

15.

16.

17.

18.

19.

B. next Tuesday

C. to office

D. most probably

Select the option that will improve the underlined part of the given sentence.

The bishop sadly declared that the poor gentleman who was dead was quieter of the
community.

A. the quieter

B. the quietest

C. most quiet

D. quiet

Select the most appropriate ANTONYM of the highlighted word in the given sentence.

The author's writing style is characterised by a subtle and nuanced use of language.

A. Sturdy

B. Elaborate

C. Elegant

D. Delicate

Select the INCORRECTLY spelt word in the given sentence.

Many biologists have stated the fact that most of the herbs are perinnial and have healing
qualities with added flavour

A. Perinnial

B. Biologists

C. Qualities

D. Healing

Select the most appropriate ANTONYM of the bracketed word to fill in the blank.

The rainbow arched gracefully across the sky, painting it in (lifeless) hues.

A. vibrant

B. muted

C. ashless

D. spiritual

The following sentence has been split into four segments. Identify the segment that contains
a grammatical error.

In addition with / the existing crisis in economy, / the rise of hunger index / is another cause
of worry.

A. In addition with

B. the existing crisis in economy

C. is another cause of worry

D. the rise of hunger index

Select the most appropriate ANTONYM that can substitute the underlined segment in the
given sentence.

The team was gradually realising that the social gatherings were draining
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20.

21.

22.

23.

24,

flippant

absorbing

unfruitful

. frivolous

Select the most appropriate option that can substitute the underlined word in the given
sentence.

Reduced price of cooking gas brought happy to the face of every citizen

o0 w>p

A. happily
B. happier
C. happiness
D. happiest

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

We’re a society fixated on numbers. So, it’s no (1) we use measurements and
equations to score our weight. The most (2) is BMI, a measure of our body weight to
height ratio. BMI (3) bodies as underweight, normal or healthy weight, overweight or
obese and can be a useful tool for weight and health (4) . But it shouldn’t be used as
the single (5) of what it means to be a healthy weight when we set our weight loss
goals.

Select the most appropriate option to fill in blank number 1.

A. vibrance

B. resolution

C. persistence

D. surprise

Select the most appropriate option to fill in blank number 2.
A. uncharted

B. imprecise

C. popular

D. indistinct

Select the most appropriate option to fill in blank number 3.
A. speculates

B. classifies

C. dissuades

D. meanders

Select the most appropriate option to fill in blank number 4.
A. landing

B. screening
C. planting
D. hastening
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25. Select the most appropriate option to fill in blank number 5.
A. wobble
B. serendipity
C. evanesce
D. measure
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Answers

1. B 2.C 3.A 4.C 5.B 6.B 7.C 8.D 9.D 10.B 11.D

12. D 13.A 14.B 15.A 16.A 17.A 18.A 19.B 20.C 21.D 22.C

23. B 24B 25.D |[Practice Exercise]|
Explanations

1. B) Despite its struggles, India has potential to lead in climate adaptation innovation.
The passage emphasizes that India's experience with extreme weather and resource
constraints gives it a unique edge to innovate, adapt, and even help other countries. It calls
India a "natural incubator" and suggests adversity can lead to innovation.
A: Incorrect — The passage says India still struggles (e.g., "failed to prevent urban flooding"),
so it hasn't solved most problems yet.
C: Incorrect — The passage argues the opposite: India should seize the opportunity to invest
in climate adaptation.
D: Incorrect — The passage shows that rich countries are also vulnerable, facing similar
issues as Indian cities (e.g., NYC floods), challenging the assumption they are better
prepared.
2. C) Because it has faced repeated climate disasters and developed responses despite limited
resources.
The passage explicitly says India has “muscle memory” in handling extreme weather and can
draw on this experience, along with its resource constraints, to offer relevant and scalable
solutions globally.
A: Incorrect — No mention is made of India having the most advanced climate tech.
B: Incorrect — It says India has failed repeatedly to prevent urban flooding.
D: Incorrect — The focus is on India’s own experience, not copying others.
3. A)India can become a leader in creating scalable climate adaptation innovations
The passage highlights India’s "muscle memory" in handling extreme weather, its
"geographical diversity", and its potential as an "incubator for climate adaptation startups".
These suggest India has unique experience and scale to develop scalable and innovative
climate solutions for global use.
B. Incorrect — India may lack perfection, but the passage mentions it has experience and
innovation potential.
C. Incorrect — India’s experience, though "patchy", is still valuable and can be shared.
D. Incorrect — Economic losses are acknowledged but are not shown to limit innovation;
rather, necessity drives action.
4. C) Shared climate challenges offer India a chance to innovate for the world
The passage states that shared vulnerabilities create an opportunity for India to turn
adversity into innovation and develop solutions applicable domestically and globally.
A. Incorrect — The passage does not say it's impossible, only that it's challenging.
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B. Incorrect — There's no mention of fund access limitations by wealth.
D. Incorrect — The passage focuses on adaptation and innovation, not halting development.
5. B) Alleviate
This means to reduce or ease, matching "mitigate" in the context of reducing the impacts of
climate change
6. B) Delay (verb) — To make something happen later than planned or expected, postpone,

defer, retard. IEGER:ZGI

Antonym: Hasten (verb) — To move or act quickly, accelerate, expedite, rush. KA R TGl

e Wait (verb) — To stay in one place expecting something to happen, remain, linger. gdrer
CXOI

¢ Intervene (verb) — To get involved in a situation to improve it or stop it, mediate,

intercede. §ET&TT FHTAT

o Lag (verb) — To fall behind, delay, linger, trail. f¥& & el

7. C) Bravely' &l use gham FIifh SHhl 37 % HIGH‘-I‘\chdn IR T H ARl & gl
STl & HATETA & ITFT I T goTeT haT I & Ig adrar § & 3egia aed 3R
fastar & @y I | Rarely' F1 37T § "ArIG & o, S Fgi e G grar Fife
aﬁwﬁmﬁmaﬁmﬁww%ﬂﬁ?mﬁraﬁl 'Before'HBT?ff%
ggel," ST AT AT geffar § AR 3w ey & Hed H IuPHd G g1 Ever' HT Y B
"l AfheT Tg HedT A Tohar a1 fAAWoT il WA et & fAT 3ugere =161 B

Bravely' will be used because it means "courageously," and the sentence describes the

explorers trekking through the dense jungle. This implies they did so with courage and
fearlessness. 'Rarely' means "seldom," which doesn't fit here as the sentence conveys an
emotion of bravery, not frequency. '‘Before' refers to "prior to," which denotes time and is
irrelevant in this context. 'Ever' means "at any time," but it doesn’t appropriately modify the
verb or fit the sentence's meaning.

8. D) Theincorrectly spelt word is Machinary, and the correct spelling is Machinery, which means

"machines collectively or the working parts of a machine" JMNT T HHg a1 ity AT
9. D) Efforts' ST use B9 FAITah 'efforts' T 37T BT § HideT IRSH AT 91T IHT H
TE mention § T "Durga Puja 3T UNESCO T 31l HEpideh €RIgT AT # enfder
AT Tl FTAURAT & fdeT YA AT & HROT &7 THT & 9rAT|" SATAT 'Efforts' TgT
TEY g1 'Passivity' T 31T § ATSHTar ot 59 i & 3”9 Ag & Fife g &
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10.

11.

12.

13.

14.

afhT aRHH FT 3oal@ gl 'Affects' T Y § YHIT STeloll, oAfched AT H "I T" &
fOT Ueh AT AT 3G hdr %’I 'lgnorance’ T Iy %’ 3-|a1|a-|dI,EIT JhRIcHS JIrar &
HedT H fihe &1 Sodr|

Efforts' will be used because it means "hard work or attempts." The sentence mentions that

the inclusion of Durga Puja in UNESCO's list was possible due to arduous work by stakeholders,
making 'Efforts' correct here. 'Passivity' means "inactivity," which is unsuitable as the sentence
emphasizes active hard work. 'Affects' means "impacts," but the sentence requires a noun
indicating effort, not an effect. 'Ignorance' means "lack of knowledge," which does not align
with the positive efforts mentioned.

B) Beat around the bush (idiom) — To avoid getting to the point of an issue qHe ﬂ?\? W A&
q I

D) ‘head on to his heels' & dcof 'head over heels' T use ?I?IT Faifan gg Uch JflflT:lTr (idiom)
¢ Toraerr 3 § "I e @ A1 S § WR A 93 S

'head over heels' will be used instead of 'head on to his heels' because it is an established idiom
that means "to fall deeply or completely in love." In this sentence, it appropriately expresses
James's deep love for Regena. Example—The moment he saw her, he fell head over heels in love.

'D) ‘was born into' & Scol 'was born in' &T use BT Fdifh 'bornin' T use ThdT TATT &
et A foar Srar g1 Jer 'Southampton' TATA &, 37d: 'in' appropriate preposition gl
3cTg{UT— He was born in London.

'was born in' will be used instead of 'was born into' because 'born in' is used in the context of a
place. Here, 'Southampton' is a place, so 'in' is the appropriate preposition. Example— He was
born in London.

A) ‘come' & ol 'will come' 3T use 61'311' Fifh aTaFT Future Tense %’, 3R Future Tense
H Modal Verb 'will' T use fHaT STar %}; S8 — He will come to the office next Tuesday.

come' will be replaced with 'will come' because the sentence refers to a future event (indicated
by "next Tuesday"), and in English grammar, we use the modal verb 'will' for future tense; like —
"He will come to the office next Tuesday."

B) ‘quieter' & Scel 'the quietest' T use BN FAifch dTFd H hiFd H THT H T
JIGH (superlative degree) AT ST @l %I Superlative degreea? foIT 'the' 3T use EﬂT-lT %I

ST— He is the tallest boy in the class.
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15.

16.

17.

18.

19.

Explanation in English: 'the quietest' will be used instead of 'quieter' because the sentence
describes the gentleman as the calmest (superlative degree) in the community. Superlative
degree requires the use of 'the.' Like— He is the tallest boy in the class.

A) Subtle (adjective)- Delicate, not obvious, or understated; requiring careful perception.

e, A
Antonym: Sturdy (adjective): Strong, robust, or firm in structure; lacking delicacy or subtlety.
AT, 31|

e Elaborate (adjective): Detailed, intricate, or highly developed. faQ-_c(I'H, S|

e Elegant (adjective):Graceful, refined, or stylish in appearance or manner. ﬂ?ﬁl‘ﬂ?‘l’, lfl;'aTI

* Delicate (adjective): Fragile, fine, or requiring careful handling =I5, P
A) The incorrect spelling in the given sentence is ‘Perinnial’. The correct spelling is ‘Perennial’,
which means “lasting or existing for a long or infinite time; enduring or continually recurring.”

BEr & s@ar 37T ¢ o a1 TR-9R g ara.
A) Lifeless (adjective) — Dull, lacking energy, without life or spirit, inert, or colorless. TTSHTOT, T
Antonym: Vibrant (adjective) — Full of energy, color, life, or brightness; vivid and lively. Siad,
THbIET, Tt

e Muted (adjective): Soft, subdued, toned-down, or restrained in color or sound. ﬁa‘, BT

e Ashless (adjective): Not a standard term in the given context. This option is irrelevant.
e Spiritual (adjective): Relating to the spirit or soul rather than physical or material things.

TEATIcHS
A) ‘In addition with' & TATA 9T 'In addition to' &T use B9 FAifeh 'in addition' & STE FHRM
'to' Prepositional &l use ﬁFlT %I g Prepositional Phrase%} IR 'H'é’f use 'in addition to
something' giar %I S A— Sheis learning French in addition to German.

'In addition to' will replace 'In addition with' because 'in addition' is always followed by 'to'. It is
a prepositional phrase, and the correct usage is 'in addition to something'.
Like— She is learning French in addition to German.

B) Draining (adjective) — Causing someone to lose energy; exhausting, tiring, enervating. (3,

Foll AT Fled dTell)
Antonym: Absorbing (adjective) — Fully engaging, captivating, or intriguing; something that

captures one's energy in a positive way. (W, W)
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20.

21.

22.

e Flippant (adjective): Not showing a serious or respectful attitude; frivolous, impertinent.

ged), Ir|Ey
e Unfruitful (adjective): Not productive or unsuccessful; barren, ineffective. W,
CCany

e Frivolous (adjective): Lacking seriousness or sense; trivial, silly. q=o, g
C) 'happy' & Scol 'happiness' T use gIaT FAifeh 'brought' Teh Transitive Verb %}, IR sﬂa? CIA
Object (Noun) &I 3TaRISAT 81T & | 'happy' T Adjective &, S TGT Il use §3-1T%I el Noun
'happiness' g, ST — Good news brings happiness to everyone.

A transitive verb requires an object (Noun/Pronoun) to complete its meaning. Since 'brought' is
a transitive verb, it should be followed by a Noun. 'Happy' is an Adjective, so it is incorrect here.
The correct Noun form is 'happiness'; Like— Good news brings happiness to everyone.

D) 'Surprise' T use BT FAifah "surprise” & 31T § Tfha glemm, 3T g & IJg LG
T & o GATS §E&AT W 3™ SO Higd aar &, safav a8 Al arer 7@ &
5 &7 39 goldd HI AU & foIT FeTRIoT 3R ATIT FT use A &1 'Vibrance' FT
3 § SNaddr, S FgT irrelevant ¥ 'Resolution' T 31 § g¢ @, St Igi dest # fihe
Tel BTl 'Persistence' T 37T & E@?IT,ET sq el H aIFT FT dleay Tad gl hLdr
J

'Surprise' is the correct choice because it means astonishment or unexpectedness, and the

sentence implies that it’s not surprising that society uses measurements and equations to
guantify weight due to its fixation on numbers. 'Vibrance' means liveliness, which is irrelevant
here. 'Resolution' means determination, which does not fit the context. 'Persistence’ means
perseverance, which does not convey the intended meaning of the sentence.

C) Popular' & use B Fifeh "popular" &7 3T & FeET fT FT AId T F AT AT
Tl @leTl sentence H TG mention & o BMIFEE 3Hf&h use T ST dTell AT g,
3R "popular' 39 HeH H 'I.Elmil;mi 39geFd &1 S9fd: 'Uncharted' T 31 § 0OT &9 Y
379 I WiaT 8T AT &1, S TgT e 8T 8IaTl 'Imprecise' &7 37 § "31Eqse” IT "TéSh
oTel", ST TET BMI & h19eh use & [T 3UFd =161 g1 'Indistinct' T 7Y § "3rEgse” a1
"YU, Sl 5H Hed H e B

Popular' will be used because it means something widely known or accepted. The sentence states

that BMI is the most commonly used measurement, making 'popular' the right choice.
Whereas: 'Uncharted' means unexplored or undiscovered, which doesn't fit here.
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25.

'Imprecise' means "not accurate," which doesn’t align with the idea of BMI's widespread usage.
'Indistinct' means unclear or vague, which is not contextually correct here.

B) Classifies' T use BI9T Fdifch SHMI IF Prar & 'dd'ﬁcgd AT AT "FMTAT HLATI"
sentence # mentiong T BMI RRT &I Taffed SO (underweight, healthy weight,
overweight, obese) & Talihd HIcl g1 FHTAT 'Classifies' TgT 3Uged gl 'Speculates'
HE B "IHTAT e, S SH HeH H HEY G § Fhifh Ay ATV T FTUSC ®T 4
qafhd el @ 91T F 6T ¢ 'Dissuades' 1 371 § "galcHTied HT," ST BMI & Hd
¥ Hefrd FEr g1 'Meanders' &7 31 § "HHAT-THEAT AT T 3682T & cehetl," ST 56
TeeT A e AgT dadr|

'Classifies' will be used because it means "to categorize or divide." The sentence mentions that

BMI categorizes bodies into different groups (underweight, healthy weight, overweight, obese),
making 'Classifies' appropriate here. 'Speculates' means "to guess or hypothesize," which does
not fit because the sentence speaks about clearly categorizing groups. 'Dissuades' means "to
discourage," which is unrelated to BMI's function. 'Meanders' means "to wander aimlessly,"
which does not fit the logical or contextual sense here.

B) Screening' &T use BI9IT Fifch SHPT Iy g S ar H‘\vqicho-l hAT|" 3H Tl #, BMI

I Teh 3YRIUT & & H use fhdT ST T@T & TARFLT AR Ifed & 3HTeholed Hel & folU|
dfeh g # BMI T ST &1 3e0d §, 'screening' €8T fdehed §1 'Landing' &7 31T §
"SI, S 39 Tedr H g &1 'Planting' T 31 § "UYUT T, ST T@T fhe AT
dBdT| 'Hastening' T 37 § "caRd e, S 3 &3 & el el & Fdifer BMI ST a7
Hedichel &1 a1 Y @1 &, o o T gfshar & oot et &7

Screening' will be used because it means "to examine or evaluate." In this context, BMI is

mentioned as a tool for assessing health and weight. Since the sentence highlights the utility of
BMI, 'screening' is the correct option. The other options are incorrect because: 'Landing' means
"to come down to the ground," which is irrelevant in this context. 'Planting' means "to sow seeds
or set plants," which doesn't fit here. 'Hastening' means "to speed up," which is not appropriate
as BM relates to evaluation, not acceleration.

D) Measure' T use B9 &l "measure” &I 3 § fhell T &I A AT Aot
FI FT T Ao | sentence H Tg mention g & BMI P THHATT 3UHIUT & FF H use
T8l AT AT ST §H 319eT golel Heled & ofgdl &l [AuRa #td §1 3afav 'measure’
gl e &1 'Wobble' T 3 § SIHIACA, S Hediched AT Al & HesT # e A&
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dadTl 'Serendipity' T 7T § HhiEHAd & DS ol g, S gl e B
'Evanesce' &T 37T %’ Bl CE ?I'FIT,GIT sH T H faasw FI'?[ a_-l'éT %’I

Measure' will be used because it means a standard or method for evaluating something. The
sentence emphasizes that BMI shouldn’t be the only measure used when setting weight loss
goals, making 'measure’ appropriate in this context. 'Wobble' means to move unsteadily, which
is irrelevant here. 'Serendipity' means a fortunate occurrence by chance, which doesn’t fit the
context of health evaluation. 'Evanesce' means to disappear or fade, which is entirely unrelated.
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